
R0000713E Bench Assemble R Axis Limit Assembly

Bench assembly details for R axis limit stop

Introduction
Tools Required

Standard hex key set

38mm spanner

Parts Required

B0000122 Glacier Bush 12 D 14 D 15 Long x 4

D0007454 Stop Sub Base OH (D8377) x 1

D0007455 Stop Damper Housing OH (D8378) x 1

D0008377 Stop Sub Base (D7454) x 1

D0008378 Stop Damper Housing (D7455) x 1

D0008380E Stop Slide Finger ZX4 Mk5 x 1

D0008383 Cross Joiner x 1

D0010756 Proximity Switch Mounting Block Reduced Size x 1

E0000336 Sensor: M8; 2mm, PNP N/O, M8 conn x 1

H0008379 Shaft 12mm: 263mm R Axis Limit Stainless x 2

P0000235 MC Series self compensating Damper x 2

Medium 1 hour(s) Dif>culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Fit bushes

Step 3 - Assemble damper stop housings

Step 4 - Insert shafts and slide >nger

Step 5 - Fit Cross joiner

Step 6 - Fix shafts

Step 7 - Quality check

Step 8 - Fit dampers

Step 9 - Damper setting

Step 10 - Fix datum sensor block

Step 11 - Set Sensor

Step 12 - Fit tie bases

Step 13 - Ensure all bolts are >nalised

Comments

Page 1 / 7



Step 1 - Unless otherwise stated
All bolts must have Loctite 243 adhesive applied unless otherwise

stated.

All bolts must be marked with pen once completed to indicate

adhesive and correct tension has been applied

Step 2 - Fit bushes
Fit 4 off B0000122 bushes to block D0008380E as shown

Bushes must be pushed Eush to face

Check internal diameter of bushes once >tted by using 1 off

H0008379 Shaft 12mm

If >t is tight, use 12mm hand reamer to clean bore to 12mm

Page 2 / 7

https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/images/thumb/3/35/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_133340.png/ia-f3e0464884f8e87434b30505c0a84370-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_133340.png.png


Step 3 - Assemble damper stop housings
Use 6 off M8 x 30 socket caps to >x

D0007455 Stop Damper Housing OH to D0007454 Stop Sub Base OH

D0008378 Stop Damper Housing to D0008377 Stop Sub Base

Ensure indicated faces are mated together on assembly

Page 3 / 7

https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_133735.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134101.png
https://stuga.dokit.app/images/thumb/f/f3/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134127.png/ia-4022beab52d373f7aed721329dad07e6-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134127.png.png


Step 4 - Insert shafts and slide >nger
Assemble as shown 2 off H0008379 Shaft 12mm: 263mm R Axis Limit Stainless x 2 and pre assembled slide >nger block

Do not add >xings yet

Ensure slide >nger is orientated the correct way

Step 5 - Fit Cross joiner
Use 2 off M8 x 50 socket caps to >t D0008383 Cross Joiner as shown

Ensure indicated faces are set Eush

Page 4 / 7

https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134334.png
https://stuga.dokit.app/images/thumb/b/b5/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134514.png/ia-0563bcab385dd6aa0a3efb76f7833d0a-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134514.png.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134755.png
https://stuga.dokit.app/images/thumb/c/cf/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134809.png/ia-6beef3388c576644def7300af25935b7-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_134809.png.png


Step 6 - Fix shafts
Use 4 off M6 x 16 socket caps and heavy M6 washers to >x shafts as shown

Note, slight shaft Eoat will be present, this is normal

Step 7 - Quality check
Ensure slide >nger moves freely between 2 points indicated

Page 5 / 7

https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_135247.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_135303.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_135503.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_135627.png


Step 8 - Fit dampers
Fit 2 off P0000235 dampers as shown

Position lock nuts on the indicated faces

Step 9 - Damper setting
Set dampers to the following spec

With damper fully compressed, a 5mm gap should be present at the

indicated point

Set both sides to the same setting

Step 10 - Fix datum sensor block
Orientation

For R-L machines >t to point A

For L-R machines >t to point B

Use 2 off M5 x 40 socket caps with A form washers to secure D0010756 Proximity Switch Mounting Block as shown

Page 6 / 7

https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_135914.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_135923.png
https://stuga.dokit.app/images/thumb/b/b3/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140137.png/ia-59e0ee1f2df47d9797806f9715b716f3-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140137.png.png
https://stuga.dokit.app/images/thumb/8/84/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140810.png/ia-073cb33e5ac4113de9f537a7e7bd74bb-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140810.png.png
https://stuga.dokit.app/images/thumb/8/84/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140810.png/ia-a64d2f01269b8a34f33f078677776048-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140810.png.png


Step 11 - Set Sensor
Adjust sensor to read indicated face.

Set gap to -1mm

Ensure sensor lock nut is not over tighten when >nalising

Step 12 - Fit tie bases
Fit cable tie bases with M4 x 6 button sockets

Step 13 - Ensure all bolts are
>nalised
Double check all bolts are tensioned and marked

Page 7 / 7

https://stuga.dokit.app/images/thumb/3/38/R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140854.png/ia-ebb6fcb1f589f7d352336d3e8093ce99-1000px-R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-09-25_140854.png.png
https://stuga.dokit.app/wiki/Fichier:R0000713E_Bench_Assemble_R_Axis_Limit_Assembly_Screenshot_2023-11-03_090401.png
https://stuga.dokit.app/wiki/Fichier:R0000711_Rotary_Base_Assembly_quality-assurance-testing.png

	R0000713E Bench Assemble R Axis Limit Assembly
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Fit bushes
	Step 3 - Assemble damper stop housings
	Step 4 - Insert shafts and slide finger
	Step 5 - Fit Cross joiner
	Step 6 - Fix shafts
	Step 7 - Quality check
	Step 8 - Fit dampers
	Step 9 - Damper setting
	Step 10 - Fix datum sensor block
	Step 11 - Set Sensor
	Step 12 - Fit tie bases
	Step 13 - Ensure all bolts are finalised


